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1 6,598 |¥ /783 7,536 7,562 | ¥ S, 734
2 4,/03 §.084 /. 783 7. 743 §.8572
3 3,054 6,520 7,285 $5./09 7,236
4 S. 26/ 7,862 —S$5.478 3,864 —7.40%
5 7./ 48 7./ 34 -6.0/3 §.32/ —4,/80
6 §.278 3.8507 2,470 8,974 2,87/
7 3,420 2,938 8,627 4,08 ¢ 6./93
8 /597 7,640 —3.04¢ 6./78 —&.260
9 7,732 24T =7,/02 /702 -3.7/6
10 4,607 8,76/ /784 §.230 3.047
No 7 8 9 10

1 3,772 | ¥ &.478 4,23/ 7,587 |¥ 2,47/
2 7.0/3 2,064 7,427 3,709 6,578
3 6,250 3,382 2,.5/0 7.94/ §.025
4 /864 -/.830 6. 748 —&8.072 7,603
5 S, 409 7,87 ¢& 8,034 —6,388 7,437
6 §./36 6./78 7,506 3.6/ 4% 4,306
7 7,428 —3,407 3.87 2 —5.240 6.877
8 5,703 —4,370 8,67/ —4,859/ 3.8/ 2
9 4,82/ /782 6./93 6,023 & L4/
10 §.677 6,92/ 7,088 /.8 €L /.730
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“ (100 ) “ “ (100 ) “

11 /60 X 308 = 31 §E.450 ~ 750 =
12 204 X 890 = 32 27.268 = 40/ =
13 7,893 X £3 = 33 3.7685 + 3085 =
14 S33& X 704 = 34 27.760 + 73 =
15 628 X 745 = 35 36.6/2 + 478 =
16 38/ X 237 = 36 //.276 = /6 =
17 707 X §52 = 37 5./60 = 24 =
18 4785 X /76 = 38 22,873 + 587 =
19 §/7 X 4/7 = 39 60.78%4 = 72 =
20 42 X 2,86/ = 40 4/.//8 &7 =
21| ¥ 64/ X 640 = 41| ¥ /7.880 = 2/0 =
22| ¥ 9/3 X473 = 2| ¥ 7.908 + 385 =
23| ¥ 274 X &4 = 43| ¥ 8,528 ~ 82 =
24| ¥ /S0 X S/8 = A | ¥ 286,784 ~ 54 =
25| ¥ 76X 3,572 = 45| ¥ £4.4746 = 703 =
26| ¥ 328 X 726 = 46 | ¥ $55.237 7/ =
21| ¥ §57 X /07 = A7 | ¥ 49.764 = 638 =
28| ¥ 738 X 209 = 48 | ¥ /&4.480 ~ 47 =
29| ¥ 5,067 X 3/ = 49 | ¥ 44.079 = 647 =

30

¥ 402 X 788 =

50

¥ 7,434 /26 =




